CBCS/B.A./Hons./3rd Sem./Philosophy/PHIACOR07T/2019

ot e
WEST BENGAL STATE UNIVERSITY

B.A. Honours 3rd Semester Examination, 2019

PHIACORO7T-PHILOSOPHY (CC7)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer FEF 70E T ‘2"73777 fairis F1
Candidates should answer in their own words AT e SR TR I AT T
and adhere to the word limit as practicable. Cex 91

All symbols are of usual significance.

Question No. 1 and 2 are compulsory. Answer any fwo from the rest

S AR @R R WA | SAHE (-t 7f6 2vid Tea wie

1. Answer any five questions from the following: 2x5=10
e @-ie «ivfe @eis Teq wes

(a) How does Frankena define moral philosophy?
el fFeir Tfewitr s facce ¢

(b) Distinguish between moral actions and non-moral actions.
tfes T3 @ F-foF TR T AL FAN

(¢) What is meant by Hedonistic calculus?
-3 FIE I ?

(d) What is meant by act-deontology?
FA-FEIRW FIE 0 2

(e) What are the postulates of morality?
Afsror Ter Forefd 1 F 2

(f) What are the external sanctions of morality as advocated by Bentham?
@RI e CAferold s e F S e

(g) What are the different stages of a voluntary action?
@foes fear Rica saefE F i 9

(h) What is meant by Ethical Hedonism?
(ISP 7 FET00 F @I 2

(1) What are the different ethical theories of Punishment?
Y T Fe Hfew Teamas i Fi 9

(j) “Good will is good in itself”— Explain in brief.
Huor) FoRO:E e — FAMH Sl FRCHFC A1 T |
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(b)

Answer any fwo questions from the following: 5x2=10
fasfeiiie -l 7f6 @ess Teg wiss

Write a short note on objects of moral judgement.

e [viEe Rame i ol w:fFg B @

Distinguish between psychological and ethical hedonism.

TABIEE 8 (ST FA0wE W AN I

(c) Distinguish between Bentham’s and Mill’s version of Utilitarianism.

(d)
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@I @ fiiteT SoATaleRIT ey =A< el
Distinguish following Kant, between duty and obligation.
BIGCE PR IR POY € WIFEOIT W& N RN

What is the nature and scope of Ethics? 15
SRz Twel ¢ #fafe i 9
Define Utilitarianism. Critically discuss Mill’s utilitarianism. 2+10+3=15

TSR 7%l Wi | et ToieRm [Reess SiEsa St

What is categorical imperative? Discuss critically Kant’s notion of categorical 3+12=15
imperative.

Tz *e Fayesr’ FIE A 9 FHA =S S «iRefd #Re= e st

Explain briefly the Reformative Theory of Punishment. Do you think capital 10+5=15
punishment justified?
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